

COMPREHENSIVE RURAL HEALTH SERVICES PROJECT, BALLABGARH CENTRE FOR COMMUNITY MEDICINE, A.I.I.M.S., NEW DELHI-110029

BALLABGARH - 121004 (HR)

Ph. 0129-2241362 Fax. 0129-2211227

No. F. CRHSP, Ballabgarh-AIIMS/2021-22

Dated 28.01.2022

ATTENDANCE SHEET

Sub: Meeting of the Condemnation Committee at CRHSP, Ballabgarh, AIIMS

A meeting of Condemnation Committee for condemnation and disposal of Machinery and Equipment, Linen etc. condemned locally at CRHSP, Ballabgarh AIIMS was held on 28.01.2022 at 12:00 Noon in Seminar Room, CRHSP, Ballabgarh. The meeting was chaired by Dr Puneet Misra, Professor In-charge, CRHSP, Ballabgarh. The following members attended the meeting:-

S.N.	Name of the members		Signature
01	Dr Puneet Misra, Professor In-charge, CRHSP, Ballabgarh	Chairman	W.
02	Dr Harshal R. Salve Additional Professor, CRHSP, Ballabgarh	Member	Diniver
03	Dr. Rakesh Kumar Associate Professor, CRHSP, Ballabgarh	Member	P /28/1
04	Sh. Kalu Ram, Chief Technical Officer, Central Workshop	Member	Jun 25/01/22
05	Sh. Prem Pal, Account Officer, As Finance Advisor or his nominee	Member	128/1/22
06	Sh. R.P. Singh, Assistant Store Officer As Senior Store Officer (DO) or his nominee	Member	

The meeting ended with the thanks to chair.

(Dr. Puneet Misra) Professor In-charge, CRHSP, Ballabgarh डॉ॰ पुनीत मिश्रा

Dr. Puneet Misra

LALORER ... To the Alloway Dell



								Name of D	eptt. CRHSP, B	allabgarh,	Centre for	Community N	Medicine, AIIM
5. No.	location wise S. No.	Description of item	Year of purchase	Total Quantity	Original unit cost of each item in rupees	Total Cost (Rs.)	Sr. No. and page no. of Stock Register details	Reasons of condemnation (whether unserviceable /Obsolete/ Surplus/ Scrap/ Beyond Economic Report) Condemnation Certified issued by CWC/OEM must be enclosed enclosed	Details of head under which the item was purchased & funds were books (whether M&E and M&S)		Reserve Price (Approx. value in Rupees)	Location of Condemned Item	Contact detail of Dealing hand with phone no
1	1	Artery Forceps (Curned)	06.05.2015	61	98	5978.00	1	Non-repairable	Machinery & Equipment	3.00	183.00	Ward	
2	2	Artery Forceps (Straight)	19.01.2017	40	98	3920.00	6	Non-repairable	Machinery & Equipment	3.00	120.00	Ward	
3	3	Dilator	20.11.2014	98	350	34300.00	19	Non-repairable	Machinery & Equipment	5.00	490.00	Ward	
4	4	Cuscos	06.05.2015	2	250	500.00	23	Non-repairable	Machinery & Equipment	3.00	6.00	Ward	
5	5	Dissecting Forceps	19.01.2017	45	250	11250.00	36	Non-repairable	Machinery & Equipment	2.00	90.00	Ward	
6	6	Episiotomy Scissors	19.01.2017	49	700	34300.00	42	Non-repairable	Machinery & Equipment	2.00	98.00	Ward	
7	7	Straight Scissors	19.01.2017	3	1050	3150.00	102	Non-repairable	Machinery & Equipment	2.00	6.00	Ward	
8	8	Cocker	06.05.2015	57	350	19950.00	64	Non-repairable	Machinery & Equipment	2.00	114.00	Ward	
9	9	Sponge Holder	19.01.2017	10	1200	12000.00	101	Non-repairable	Machinery & Equipment	3.00	30.00	Ward	
10	10	S.S. drum	16.10.2014	5	1420	7100.00	102	Non-repairable	Machinery & Equipment	10.00	50.00	Ward	
11	11	Blower (Sunflow)	18.12.2014	. 1	7379	7379.00	14	Non-repairable	Machinery & Equipment	10.00	10.00	Ward	
12	12	CTG machine	06.4.2015	1	120000	120000.00	26	Non-repairable	Machinery & Equipment	150.00	150.00	Ward	
13	13	Compactor	15.11.2014	10	10700	107000.00	31	Non-repairable	Machinery & Equipment	500.00	5000.00	Ward	
14	14	Electrical Inseet killer	10.10.2014, 02.07.2015, 15.10.2015	3	1440	4320.00	43	Non-repairable	Machinery & Equipment	10.00	30.00	Ward	
15	15	Foot Step	01.06.2016	2	2700	5400.00	46	Non-repairable	Machinery & Equipment	20.00	40.00	Ward	1

6417.00

Loslower

Page 1 of 17

S. No.	location wise S. No.	Description of item	Year of purchase	Total Quantity	Original unit cost of each item in rupees	Total Cost (Rs.)	Sr. No. and page no. of Stock Register details	the same of the sa	Details of head under which the item was purchased & funds were books (whether M&E and M&S)	Reserve Price (Approx. value each item in Rupees)	Reserve Price (Approx. value in Rupees)	Location of Condemned Item	Contact detail of Dealing hand with phone no
16	16	Foetal Doppler	31.3.2015	2	7200	14400.00	48	Non-repairable	Machinery & Equipment	10.00	20.00	Ward	
17	17	I/V Stand	31.3.2015	4	1240	4960.00	150	Non-repairable	Machinery & Equipment	50.00	200.00	Ward	
18	18	Lock	3.5.2018	10	50	500.00	66	Non-repairable	Machinery & Equipment	3.00	30.00	Ward	
19	19	Laryngeo Scope (Adult)	09.1.2017	1	1100	1100.00	67	Non-repairable	Machinery & Equipment	2.00	2.00	Ward	
20	20	Oxygen Regulator flow meter	16.3.2017	5	545	2725.00	82	Non-repairable	Machinery & Equipment	40.00	200.00	Ward	
21	21	Plastic Chair (Cushion)	8.12.2017	2	1200	2400.00	90	Non-repairable	Machinery & Equipment	10.00	20.00	Ward	
22		Plastic Chair	09.12.2015	20	468	9360.00	93	Non-repairable	Machinery & Equipment	10.00	200.00	Ward	
23		Screen Folding	21.3.2013	3	2170	6510.00	107	Non-repairable	Machinery & Equipment	150.00	450.00	Ward	
24		Sofa	20.8.2013	1	22000	22000.00	112	Non-repairable	Machinery & Equipment	100.00	100.00	Ward	
25		Wheel Chair	2.7.2015	5	4100	20500.00	127	Non-repairable	Machinery & Equipment	50.00	250.00	Ward	
26	1	Shoe cover Dispenser	31.3.2013	1	75000	75000.00	114	Non-repairable	Machinery & Equipment	50.00	50.00	Ward	
27		owler Bed	23.3.2013	8	13824	110592.00	47	Non-repairable	Machinery & Equipment	250.00	2000.00	Ward	
28	t	nstrument rolley	07.9.2007	4	4410	17640.00	56	Non-repairable	Machinery & Equipment	40.00	160.00	Ward	
29		elivery set	19.1.2017	20	18005	360100.00	40	Non-repairable	Machinery & Equipment	100.00	2000.00	Ward	
30		xygen Hood	07.09.2007	2	250	500.00	81	Non-repairable	Machinery & Equipment	1.00	2.00	Ward	
31	31 (ouch	17.9.2014	1	5400	5400.00	30	Non-repairable	Machinery & Equipment	250.00	250.00	Ward	
			Total			653687.00			• •		5934.00		

5934.00

Man

1 Downer

John That

Some

Page 2 of 17

5. No.	location wise S. No.	Description of item	Year of purchase	Total Quantity	Original unit cost of each item in rupees	Total Cost (Rs.)	Sr. No. and page no. of Stock Register details	Reasons of condemnation (whether unserviceable/Obsolete/ Surplus/Scrap/ Beyond -Economic Report) Condemnation Certified issued by CWC/OEM must be enclosed enclosed	Details of head under which the item was purchased & funds were books (whether M&E and M&S)	Reserve Price (Approx. value each item in Rupees)	Reserve Price (Approx. value in Rupees)	Location of Condemned Item	Contact detail of Dealing hand with phone no
32	32	Transport Ventilator	10.05,2012	1	260000	260000.00	117	Non-repairable	Machinery & Equipment	300.00	300.00	Ward	
33	33	Pulse Oximeter	17.9.2014	1	99660	99660.00	89	Non-repairable	Machinery & Equipment	1200.00	1200.00	Ward	
34	1	Counter Chair	28.06.2012	1	1228	1228.00	19	Non-repairable	Machinery & Equipment	10.00	10.00	CWC, OPD	
35	2	Revolving /Executive Chair	07.11.2015	5	4240	21200.00	14	Non-repairable	Machinery & Equipment	25.00	125.00	CWC, OPD	
36	3	Revolving stool	06.03.2014	1	2790	2790.00	37	Non-repairable	Machinery & Equipment	50.00	50.00	CWC, OPD	
37	4	Locker (8 cabinet)	28.6.2012	1	6963	6963.00		Non-repairable	Machinery & Equipment	500.00	500.00	CWC, OPD	
38	5	Table	01.04.2012, 06.03.2014	3	3140	9420.00	44	Non-repairable	Machinery & Equipment	100.00	300.00	CWC, OPD	
39	6	Lock (medium)	13.11.2017	7	54	378.00	27	Non-repairable	Machinery & Equipment	3.00	21.00	CWC, OPD	
40	7	Steadiometer	31.3.2015	1	9200	9200.00	69	Non-repairable	Machinery & Equipment	10.00	10.00	CWC, OPD	
41	8	3 set Dustbin	17.4.2015	1	2100	2100.00	36	Non-repairable	Machinery & Equipment	100.00	100.00	CWC, OPD	
42	9	Salter Scale	24.10.2016	2	4900	9800.00	42	Non-repairable	Machinery & Equipment	5.00	10.00	CWC, OPD	
43	10	Oil Heater	15.03.15	1	7379	7379.00	26	Non-repairable	Machinery & Equipment	70.00	70.00	CWC, OPD	
44	1	Ambu Bag (Adult)	12.10.16	1	850	850.00	2	Non-repairable	Machinery & Equipment	1.00	1.00	Casualty	
45	2	B.P. Handle	14.1.17	2	150	300.0	0 12	Non-repairable	Machinery & Equipment	2.00	4.00	Casualty	
46	3	Disecting Forceps	2.12.17	10	250	2500.0	0 23	Non-repairable	Machinery & Equipment	2.00	20.00	Casualty	
47	4	Folding Screen	18.2.18	5	2200	11000.0	0 25	Non-repairable	Machinery & Equipment	150.00	750.00	Casualty	
48	5	U.P.S.	06.05.2016, 10-03-2017	5	5700	28500.0	0 27	Non-repairable	Machinery & Equipment	50.00	250.00	Casualty	
49	6	Office Table	18.2.17	2	3800	7600.0	0 29	Non-repairable	Machinery & Equipment	100.00	200,00	Casualty	

Page 3 of 17

S. No.	location wise S. No.	Description of item	Year of purchase	Total Quantity	Original unit cost of each item in rupees	Total Cost (Rs.)	Sr. No. and page no. of Stock Register details	Reasons of condemnation (whether unserviceable /Obsolete/ Surplus/ Scrap/ Beyond Economic Report) Condemnation Certified issued by CWC/OEM must be enclosed enclosed	Details of head under which the item was purchased & funds were books (whether M&E and M&S)	Reserve Price (Approx. value each item in Rupees)	Reserve Price (Approx. value in Rupees)	Location of Condemned Item	Contact detail of Dealing hand with phone no
50	7	I/V Stand	1.9.12	7	800	5600.00	32	Non-repairable	Machinery & Equipment	50.00	350.00	Casualty	
51	8	Instrument Steel Tray	5.6.18	1	450	450.00	37	Non-repairable	Machinery & Equipment	10.00	10.00	Casualty	
52	9	Insect Killer	8.9.14	3	2800	8400.00	38	Non-repairable	Machinery & Equipment	10.00	30.00	Casualty	
53	10	Nebulizer	15.5.17	6	29000	174000.00	43	Non-repairable	Machinery & Equipment	50.00	300.00	Casualty	
54	11	Plastic Chair	19.01.2014	5	345	1725.00	50	Non-repairable	Machinery & Equipment	10.00	50.00	Casualty	
55	12	Iron Trunk	1.1.09	1	Haryana Govt.	Haryana Govt.	55	Non-repairable	Machinery & Equipment	20.00	20.00	Casualty	
56	13	Instrument Trolley	25.3.2011	2	4770	9540.00	61	Non-repairable	Machinery & Equipment	40.00	80.00	Casualty	
57	14	S.S. Stool	30.03.2007	4	485	1940.00	64	Non-repairable	Machinery & Equipment	50.00	200.00	Casualty	
58	15	S.S. Drum	16.10.2014	5	1420	7100.00	68	Non-repairable	Machinery & Equipment	10.00	50.00	Casualty	
59	16	Syringe & Needle Destroyer	04.01.2018	2	760	1520.00	69	Non-repairable	Machinery & Equipment	10.00	20.00	Casualty	
60	17	PT Trolley	16.3.17	5	14500	72500.00	70	Non-repairable	Machinery & Equipment	100.00	500.00	Casualty	
61	18	Crash Cart	8.9.14	2	19000	38000.00	74	Non-repairable	Machinery & Equipment	100.00	200.00	Casualty	
62	19	O2 Regulator C Flow Meter	03.01.2014, 31.8.2014	6	500	3000.00	80	Non-repairable	Machinery & Equipment	40.00	240.00	Casualty	
63	20	O2Cyliender (B- Type)	25.4.12	1	6500	6500.00	81	Non-repairable	Machinery & Equipment	100.00	100.00	Casualty .	
64	21	Pulse Oxymeter	01-09-2011 , 23.3.2015	3	99960, 115550	315470.00	84	Non-repairable	Machinery & Equipment	800.00	2400.00	Casualty	
65	22	Wheel Chair	29.06-2015	3	9980	29940.00	90	Non-repairable	Machinery & Equipment	50.00	150.00	Casualty	(
66	23	Chittle Forceps	03.02.2012	3	450	1350.00	19	Non-repairable	Machinery & Equipment	2.00	6.00	Casualty	
			Total			677035.00)				4706.00		

Jam Bl Donaren Jelfor

S. No.	location wise S. No.	Description of item	Year of purchase	Total Quantity	Original unit cost of each item in rupees	Total Cost (Rs.)	Sr. No. and page no. of Stock Register details	Reasons of condemnation (whether unserviceable /Obsolete/ Surplus/ Scrap/ Beyond Economic Report) Condemnation Certified issued by CWC/OEM must be enclosed enclosed	were books (whether M&E and M&S)	Reserve Price (Approx. value each item in Rupees)	Reserve Price (Approx. value in Rupees)	Location of Condemned Item	Contact detail of Dealing hand with phone no
67	24	Fowler Bed	16.5.2010	5	7470	37350.00	52	Non-repairable	Machinery & Equipment	250.00	1250.00	Casualty	
68	25	Sofa Set	31.3.2015	1	22000	22000.00	57	Non-repairable	Machinery & Equipment	100.00	100.00	Casualty	
69	26	Scissors	01.12.2018	11	650	7150.00	71	Non-repairable	Machinery & Equipment	2.00	22.00	Casualty	
70	27	Compactor	25.1.2014	3	10700	32100.00	113	Non-repairable	Machinery & Equipment	500.00	1500.00	Casualty	
71	28	ECG Machine	15.7.2016	1	39500	39500.00	39	Non-repairable	Machinery & Equipment	100.00	100.00	Casualty	
72	1	Defibrillator	25.10.02	1	179100	179100.00	25	Non-repairable	Machinery & Equipment	500.00	500.00	Operation Theatre	
73	2	Laryngoscope	22.12.16	2	750	1500.00	.66	Non-repairable	Machinery & Equipment	5.00	10.00	Operation Theatre	
74	3	Suction Machine	13.12.13	2	7950	15900.00	36	Non-repairable	Machinery & Equipment	150.00	300.00	Operation Theatre	
75	4	Oil Heater	29.7.16	1	7379	7379.00	37	Non-repairable	Machinery & Equipment	70.00	70.00	Operation Theatre	
76	5	Castrovey Sharp Scissor	3.1.17	1	350	350.00	87	Non-repairable	Machinery & Equipment	2.00	2.00	Operation Theatre	
77	6	Vitretomy Set	30.11.15	1	Haryana Govt.	Haryana Govt.	61	Non-repairable	Machinery & Equipment	500.00	500.00	Operation Theatre	
78	7	Surgical Trolley	27.7.16	2	5200	10400.00	38	Non-repairable	Machinery & Equipment	40.00	80.00	Operation Theatre	
79	8	Patient Trolley	14.12.11	2	4500	9000.00	81	Non-repairable	Machinery & Equipment	100.00	200.00	Operation Theatre	
80	9	S.S.Drum Big&small	22.7.14	2	2250	4500.00	11	Non-repairable	Machinery & Equipment	10.00	20.00	Operation Theatre	
81	10	S.S. Bowl	7.1.17	5	150	750.00	40	Non-repairable	Machinery & Equipment	2.00	10.00	Operation Theatre	
82	11	Eye Cataracts Set	14.1.17	6	12000	72000.00	33	Non-repairable	Machinery & Equipment	100.00	600.00	Operation Theatre	
83	12	Hartman Ear Polyps	7.1.17	1	AIIMS	AIIMS	83	Non-repairable	Machinery & Equipment	100.00	100.00	Operation Theatre	
84	13	Wall Stein Micro Scissor	7.1.17	2	450	900.00	84	Non-repairable	Machinery & Equipment	2.00	4.00	Operation Theatre	
			Total			439879.00)	1			5368,00		(1

Page 5 of 17

S. No.	location wise S, No.	Description of item	Year of purchase	Total Quantity	Original unit cost of each item in rupees	Total Cost (Rs.)	Sr. No. and page no. of Stock Register details	Reasons of condemnation (whether unserviceable /Obsolete/ Surplus/ Scrap/ Beyond Economic Report) Condemnation Certified issued by CWC/OEM must be enclosed enclosed	Details of head under which the item was purchased & funds were books (whether M&E and M&S)	Reserve Price (Approx. value each item in Rupees)	Reserve Price (Approx. value in Rupees)	Location of Condemned Item	Contact detail of Dealing hand with phone no
85	14	Iris Scissor	7.1.17	2	350	700.00	97	Non-repairable	Machinery & Equipment	2.00	4.00	Operation Theatre	
86	15	Sickle Knife	7.1.17	1	150	150.00	83	Non-repairable	Machinery & Equipment	1.00	1.00	Operation Theatre	
87	16	Mosquito Artery	5.12.15	5	200	1000.00	17	Non-repairable	Machinery & Equipment	2.00	10.00	Operation Theatre	
88	17	Towel Clip	23/04/2005 20/01/2017	5	95	475.00	70	Non-repairable	Machinery & Equipment	1.00	5.00	Operation Theatre	
89	18	Needle Holder	23.4.15	2	250	500.00	57	Non-repairable	Machinery & Equipment	3.00	6.00	Operation Theatre	
90	19	State Clamp	16.12.04	2	300	600.00	24	Non-repairable	Machinery & Equipment	2.00	4.00	Operation Theatre	
91	20	Alleys Forceps	16.12,04	2	350	700.00	20	Non-repairable	Machinery & Equipment	3.00	6.00	Operation Theatre	
92	21	Sponge holder	6.1.17	2	450	900.00	67	Non-repairable	Machinery & Equipment	3.00	6.00	Operation Theatre	
93	22	Curate	23.4.15	1	240	240.00	32	Non-repairable	Machinery & Equipment	2.00	2.00	Operation Theatre	
94	23	Valsolum	23.4.15	1	650	650.00	75	Non-repairable	Machinery & Equipment	2.00	2.00	Operation Theatre	
95	24	Uterine Sound	23.4.15	1	225	225.00	74	Non-repairable	Machinery & Equipment	2.00	2.00	Operation Theatre	
96	25	Plane Forceps	4.4.12	3	250	750.00	35	Non-repairable	Machinery & Equipment	2.00	6.00	Operation Theatre	
97	26	Mayo Scissor	11.9.13	2	350	700.00	64	Non-repairable	Machinery & Equipment	2.00	4.00	Operation Theatre	
98	27	Bone Chisel	6.8.02	1	600	600.00	30	Non-repairable	Machinery & Equipment	2.00	2.00	Operation Theatre	
99	1	Chair Plastic Arm	07.10.2009, 16.04.2010	10	345	3450.00	P-07 (NCR- I)	Non-repairable	Machinery & Equipment	10.00	100.00	Hostel	
100	2	Towel Stand (Iron)	13.07.2009	6	787	4722.00	P-19 (NCR- I)	Non-repairable	Machinery & Equipment	10.00	60.00	Hostel	
101	3	Visitor Chair (Plastic)	24.08.2012	8	297	2376.00	P-20 (NCR- 1)	Non-repairable	Machinery & Equipment	10.00	80.00	Hostel	
102	4	Wooden Easy Chair	29.01.2011	2	1950	3900.00	P-22 (NCR- I)	Non-repairable	Machinery & Equipment	10.00	20.00	Hostel	

Soland

font

age 6 of 17

S. No.	location wise S. No.	Description of item	Year of purchase	Total Quantity	Original unit cost of each item in rupees	Total Cost (Rs.)	Sr. No. and page no. of Stock Register details		Details of head under which the item was purchased & funds were books (whether M&E and M&S)	Reserve Price (Approx. value each item in Rupees)	Reserve Price (Approx. value in Rupees)	Location of Condemned Item	Contact detail of Dealing hand with phone no
103	5	Wooden Bed (Diwan)	24.08.2012	2	3940	7880.00	P-23 (NCR I)	Non-repairable	Machinery & Equipment	100.00	200.00	Hostel	
104	6	Wooden Center Table	24.11.2014	4	2140	8560.00	P-26 (NCR- I)	Non-repairable	Machinery & Equipment	100.00	400.00	Hostel	
105	7	Washing Machine LG	22.11.2014	1	49800	49800.00	P-64 (NCR- 1)	Non-repairable	Machinery & Equipment	1200.00	1200.00	Hostel	
106	8	Chair (Iron) Black	12.06.2014, 22.11.2014	20	AIIMS	AIIMS	P-70 (NCR- I)	Non-repairable	Machinery & Equipment	10.00	200.00	Hostel	
107	9	Toaster (Pop-up)	10.04.2017	4	2000	8000.00	P-11 (NCR- I)	Non-repairable	Machinery & Equipment	10.00	40.00	Hostel	
108	10	Mayur Jug(Plastic)	12.06.2014	1	350	350.00	P-30(Mess)	Non-repairable	Machinery & Equipment	5.00	5.00	Hostel	
109	11	Tash/Dabba (Aluminium)	06.12.2012	1	700	700.00	P-34(Mess)	Non-repairable	Machinery & Equipment	10.00	10.00	Hostel	
110	12	Glass(Steel)	12.06.2014, 16.02.2015	40	25	1000.00	P-38(Mess)	Non-repairable	Machinery & Equipment	2.00	80.00	Hostel	
111	13	Katori (Steel)	12.06.2014, 16.02.2015	40	40	1600.00	P-44(Mess	Non-repairable	Machinery & Equipment	2.00	80.00	Hostel	
112	14	Plate (Steel)	12.06.2014, 02.12.2013	20	90	1800.00	P-48(Mess)	Non-repairable	Machinery & Equipment	2.00	40.00	Hostel	
113	15	Refrigerator (LG-225 Litre)	05.03.2012	1	9000	9000.00	P-68(Mess)	Non-repairable	Machinery & Equipment	500.00	500.00	Hostel	
114	16	Tea Container 5Ltr	06.12.2012	1	1350	1350.00	P-75(Mess)	Non-repairable	Machinery & Equipment	25.00	25.00	Hostel	
115	17	Gas Bhati	12.06.2014	1	900	900.00	P-87(Mess)	Non-repairable	Machinery & Equipment	50.00	50.00	Hostel	
116	18	Dinner Set (Microwave)	16.02.2015	1	1350	1350.00	P-90(Mess)	Non-repairable	Machinery & Equipment	50.00	50.00	Hostel	
117	1	A-Scan	24.1.07	1	121550	121550.00	3	Non-repairable	Machinery & Equipment	1200.00	1200.00	OPD	
118	1	Artery Forceps Straight	1.4.11	2	250	500.00	7	Non-repairable	Machinery & Equipment	3.00	6.00	OPD	
119		BP App+C138. (Digital)	27-03-17(9), 13.1.18 (2), 29.5.18 (5)	16	1490	23840.00	9	Non-repairable	Machinery & Equipment	5.00	80.00	OPD	
120		Coscoveginal Straight	7.5.15	5	400	2000.00	27	Non-repairable	Machinery & Equipment	5.00	25.00	OPD	0

4191.00

S. No.	location wise S. No.	Description of item	Year of purchase	Total Quantity	Original unit cost of each item in rupees	Total Cost (Rs.)	Sr. No. and page no. of Stock Register details	Reasons of condemnation (whether unserviceable /Obsolete/ Surplus/ Scrap/ Beyond Economic Report) Condemnation Certified issued by CWC/OEM must be enclosed enclosed	Details of head under which the item was purchased & funds were books (whether M&E and M&S)	Reserve Price (Approx. value each item in Rupees)	Reserve Price (Approx. value in Rupees)	Location of Condemned Item	Contact detail of Dealing hand with phone no
121	5	Dental Chair	22.3.12	1	199952	199952.00	29	Non-repairable	Machinery & Equipment	2000.00	2000,00	OPD	
122	6	Examination Table	28.8.12	2	3940	7880.00	33	Non-repairable	Machinery & Equipment	100.00	200.00	OPD	
123	7	Extraction Forceps	15.6.07	2	6000	12000.00	32	Non-repairable	Machinery & Equipment	2,00	4.00	OPD	
124	8	ENT Unit	20.1.14	1	190000	190000.00	40	Non-repairable	Machinery & Equipment	2000.00	2000.00	OPD	
125	9	Foot Step	16.5.07	1	927	927.00	45	Non-repairable	Machinery & Equipment	20.00	20.00	OPD	
126	10	Foetal Doppler	17.1.13	2	5000	10000.00	44	Non-repairable	Machinery & Equipment	10.00	20.00	OPD	
127	11	Haemocue Machine	07-02-2015, 28.8.2015, 02.06.2016	3	22000, 22000, 24980	68980.00	49	Non-repairable	Machinery & Equipment	250.00	750.00	OPD	**
128	12	Indirect Ophthalmoscope	20.10.14	1	176500	176500.00	50	Non-repairable	Machinery & Equipment	1800.00	1800.00	OPD	
129	13	Instrument Trolley	8.4.15	1	5100	5100.00	51	Non-repairable	Machinery & Equipment	40.00	40.00	OPD .	
130	14	I/L Mirror ENT	17.2.12	10	125	1250.00	10	Non-repairable	Machinery & Equipment	1.00	10.00	OPD	
131	15	Lock and Key	29-11-17 (5), 7.4.2018 (5)	10	50	500.00	58	Non-repairable	Machinery & Equipment	2.00	20.00	OPD	
132	16	Lower and Upper Extraction Peads. Set	15.6.07	1	3500	3500.00	60	Non-repairable	Machinery & Equipment	50.00	50.00	OPD	
133	17	Needle Holder	17,2.12	2	770	1540.00	65	Non-repairable	Machinery & Equipment	3.00	6.00	OPD	
134	18	Needle Destroyer	05.09.2018	2	760	1520.00	66	Non-repairable	Machinery & Equipment	10.00	20,00	OPD	
135	19	Revolving Chair	8.4.15	6	4590	27540.00	75	Non-repairable	Machinery & Equipment	25.00	150.00	OPD	
136	20	Stool Revolving	20-01-2014, 08.04.2015	13	2740	35620.00	80	Non-repairable	Machinery & Equipment	40.00	520.00	OPD	

742809.00

7610.00

Dam II

Downer

MAN

Smit

S. No.	location wise S. No.	Description of item	Year of purchase	Total Quantity	Original unit cost of each item in rupees	Total Cost (Rs.)	Sr. No, and page no. of Stock Register details	Reasons of condemnation (whether unserviceable /Obsolete/ Surplus/ Scrap/ Beyond Economic Report) Condemnation Certified issued by CWC/OEM must be enclosed enclosed	Details of head under which the item was purchased & funds were books (whether M&E and M&S)	Reserve Price (Approx. value each item in Rupees)	Reserve Price (Approx. value in Rupees)	Location of Condemned Item	Contact detail of Dealing hand with phone no
137	21	Sterilizing Drum a)Big (b) Medium	16-09-2010, 24.7.2012, 10.02.2014	3	2950	8850.00	83	Non-repairable	Machinery & Equipment	10.00	30.00	OPD	
138	22	Steel Almirah	29.10.12	2	6131	12262.00	90	Non-repairable	Machinery & Equipment	500.00	1000,00	OPD	
139	23	Steel Benches	1.5.13	25	14112	352800.00	93	Non-repairable	Machinery & Equipment	250.00	6250.00	OPD	
140	1	Almirah	03-03-2015, 11.4.2016	5	6740	33700.00		Non-repairable	Machinery & Equipment	500.00	2500.00	PHC, Dayalpur	
141	2	Autoclave Mini	29.8.07	1	166649	166649.00		Non-repairable	Machinery & Equipment	1700.00	1700.00		
142	3	Baby crib	01.02.2017	1	Haryana Govt.	Haryana Govt.		Non-repairable	Machinery & Equipment	5.00	5.00	PHC, Dayalpur	
143	4	Bathroom weighing machine	4.1.06	1	1500	1500.00		Non-repairable	Machinery & Equipment	10.00	10.00	PHC, Dayalpur	
144	5	Bed(fowler)	14.03.2013	4	13824	55296.00		Non-repairable	Machinery & Equipment	250.00	1000.00	PHC, Dayalpur	
145	6	Bedside locker	11.4.16	2	2970	5940.00		Non-repairable	Machinery & Equipment	50.00	100.00	PHC, Dayalpur	
146	7	Bed-Side table	8.3.11	1	2559	2559.00	96	Non-repairable	Machinery & Equipment	10.00	10.00	PHC, Dayalpur	
147	8	Bicycle	4.5.10	1	Haryana Govt.	Haryana Govt.		Non-repairable	Machinery & Equipment	50.00	50.00	PHC, Dayalpur	
148	9	Boiler	More than 10 years	1	Haryana Govt.	Haryana Govt.		Non-repairable	Machinery & Equipment	10.00	10.00	PHC, Dayalpur	
149	10	BP Machine	29.8.07	5	650	3250.00		Non-repairable	Machinery & Equipment	5.00	25.00	PHC, Dayalpur	
150	11	BP Machine	5.1.11	1	1140	1140.00		Non-repairable	Machinery & Equipment	5.00	5.00	PHC, Dayalpur	
151	12	Centrifuge machine	18.8.2012	. 1	3100	3100.00	173	Non-repairable	Machinery & Equipment	200.00	200.00	PHC, Dayalpur	
152	13	Chair (steel)	22.5.14	1	1330	1330.00	153	Non-repairable	Machinery & Equipment	10.00	10.00	PHC, Dayalpur	
153	14	Chair (wooden)	4.5.10	5	1950	9750.00		Non-repairable	Machinery & Equipment	10.00	50.00	PHC, Dayalpur	
			Total			658126.00					12955.00		1

Jan Ju Danner

5. No.	location wise S. No.	Description of item	Year of purchase	Total Quantity	Original unit cost of	Total Cost (Rs.)	Sr. No. and page no. of	Reasons of condemnation (whether	Details of head under which the item was	Reserve Price (Approx.	Reserve Price (Approx.	Location of	Contact detail of
					each item in rupees		Stock Register details	unserviceable /Obsolete/ Surplus/ Scrap/ Beyond Economic Report) Condemnation Certified issued by CWC/OEM must be enclosed enclosed	purchased & funds were books (whether M&E and M&S)	value each item in Rupees)	value in Rupees)	Condemned Item	Dealing hand with phone no
154	15	Cidex drum	More than 5 years	1	Haryana Govt.	Haryana Govt.		Non-repairable	Machinery & Equipment	10.00	10.00	PHC, Dayalpur	
155	16	Cold Box	More than 10 years	1	Haryana Govt.	Haryana Govt.		Non-repairable	Machinery & Equipment	2.00	2.00	PHC, Dayalpur	
156	17	Crash cart	18.9.2014	1	19000	19000.00		Non-repairable	Machinery & Equipment	100.00	100.00	PHC, Dayalpur	
157	18	Digital fetal doppler	25.9.13	2	7800	15600.00		Non-repairable	Machinery & Equipment	10.00	20.00	PHC, Dayalpur	
158	19	Foot steps	10.3.14	3	742	2226.00		Non-repairable	Machinery & Equipment	20.00	60.00	PHC, Dayalpur	
159	20	Hubcutter	23.1.16	2	780	1560.00		Non-repairable	Machinery & Equipment	25.00	50.00	PHC, Dayalpur	
160	21	Infantometer	3.1.15	4	13500	54000.00		Non-repairable	Machinery & Equipment	10.00	40.00	PHC, Dayalpur	
161	22	Infusion pump	18.8.2011	1	39000	39000.00		Non-repairable	Machinery & Equipment	400.00	400.00	PHC, Dayalpur	
162	23	Instrument tray	9.3.12	2	350	700.00		Non-repairable	Machinery & Equipment	10.00	20.00	PHC, Dayalpur	
163	24	Iron Bed	12.4.10	1	14742	14742.00		Non-repairable	Machinery & Equipment	250.00	250.00	PHC, Dayalpur	
164	25	Iron Bench	22.1.14	1	3370	3370.00		Non-repairable	Machinery & Equipment	250.00	250.00	PHC, Dayalpur	
165	26	Iron Bench	10.6.10	1	3370	3370.00		Non-repairable	Machinery & Equipment	250.00	250.00	PHC, Dayalpur	
166	27	Iron chair	01.02.2015	2	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	10.00	20.00	PHC, Dayalpur	
167	28	Iron Rack	08.10.10	3	2890	8670.00		Non-repairable	Machinery & Equipment	100.00	300.00	PHC, Dayalpur	
168	29	IV Stand	14.6.06	4	1170	4680.00		Non-repairable	Machinery & Equipment	50.00	200.00	PHC, Dayalpur	
169	30	IV Stand	14.6.06	3	1170	3510.00		Non-repairable	Machinery & Equipment	50.00	150.00	PHC, Dayalpur	
170	31	Locker	25.9.13	1	7170	7170.00		Non-repairable	Machinery & Equipment	500.00	500.00	PHC, Dayalpur	
171	32	Patient Trolley	29.1.14	2	6170	12340.00		Non-repairable	Machinery & Equipment	500.00	1000.00	PHC, Dayalpur	Λ.
			Total	The world bear of		189938.00		\			3622.00	1	

Jan & Saver

S. No.	location wise S. No.	Description of item	Year of purchase	Total Quantity	Original unit cost of each item in rupees	Total Cost (Rs.)	Sr. No. and page no. of Stock Register details		Details of head under which the item was purchased & funds were books (whether M&E and M&S)	Reserve Price (Approx. value each item in Rupees)	Reserve Price (Approx. value in Rupees)	Location of Condemned Item	Contact detail of Dealing hand with phone no
172	33	Patient Trolley	7.12.12	1	5470	5470.00	119	Non-repairable	Machinery & Equipment	100.00	100.00	PHC, Dayalpur	
173	34	Photocopier machine	28.11.15	1	252938	252938.00		Non-repairable	Machinery & Equipment	2600.00	2600.00	PHC, Dayalpur	
174	35	Plastic chair	4.12.08	23	439	10097.00		Non-repairable	Machinery & Equipment	10.00	230.00	PHC, Dayalpur	
175	36	Plastic Chair	19.6.06	2	420	840.00		Non-repairable	Machinery & Equipment	10.00	20.00	PHC, Dayalpur	1
176	37	Rack(stainless steel)	08.10.10	2	2890	5780.00		Non-repairable	Machinery & Equipment	100.00	200.00	PHC, Dayalpur	
177	38	Revolving chair	24.6.15	2	4240	8480.00		Non-repairable	Machinery & Equipment	25.00	50.00	PHC, Dayalpur	
178	39	Screen	12.7.07	2	2400	4800.00		Non-repairable	Machinery & Equipment	150.00	300.00	PHC, Dayalpur	
179	40	Side drawer	05.12.2011	2	3200	6400.00		Non-repairable	Machinery & Equipment	50.00	100.00	PHC, Dayalpur	
180	41	Washing machine	18.9.2014	2	24900	49800.00		Non-repairable	Machinery & Equipment	250.00	500.00	PHC, Dayalpur	
181	42	Stabiliser	12.7.07	3	1851	5553.00		Non-repairable	Machinery & Equipment	150.00	450.00	PHC, Dayalpur	
182	43	Steel bench	6.10.10	2	3570	7140.00		Non-repairable	Machinery & Equipment	250.00	500.00	PHC, Dayalpur	
183	44	Steel Chair	27.10.2009	1	438	438.00		Non-repairable	Machinery & Equipment	50.00	50.00	PHC, Dayalpur	
184	45	Suction machine	7.12.12	1	9460	9460.00		Non-repairable	Machinery & Equipment	150.00	150.00	PHC, Dayalpur	
185	46	Suction machine	13.6.14	1	19000	19000.00		Non-repairable	Machinery & Equipment	150.00	150.00	PHC, Dayalpur	
186	47	Table	4.7.11	2	2559	5118.00		Non-repairable	Machinery & Equipment	100.00	200.00	PHC, Dayalpur	
187	48	Table	6.10.10	1	2559	2559.00		Non-repairable	Machinery & Equipment	100.00	100.00	PHC, Dayalpur	
188	49	UPS	7.7.11	1	3430	3430.00	1	Non-repairable	Machinery & Equipment	50.00	50.00	PHC, Dayalpur	
189	50	Utensil rack	More than 10 years	1	Haryana Govt	Haryana Govt	1	Non-repairable	. Machinery & Equipment	100.00	100.00	PHC, Dayalpur	

Page 11 of 17

S. No.	location wise S. No.	Description of item	Year of purchase	Total Quantity	Original unit cost of each item in rupees	Total Cost (Rs.)	Sr. No. and page no. of Stock Register details	Reasons of condemnation (whether unserviceable /Obsolete/ Surplus/ Scrap/ Beyond Economic Report) Condemnation Certified issued by CWC/OEM must be enclosed enclosed	Details of head under which the item was purchased & funds were books (whether M&E and M&S)	Reserve Price (Approx. value each item in Rupees)	Reserve Price (Approx. value in Rupees)	Location of Condemned Item	Contact detail of Dealing hand with phone no
190	51	Vaccine carrier	More than 10 years	28	Haryana Govt	Haryana Govt		Non-repairable	Machinery & Equipment	10.00	280.00	PHC. Dayalpur	
191	1	Chair Revolving	01.04.2016	5	4590	22950.00	5	Non-repairable	Machinery & Equipment	50.00	250.00	Laboratory	
192	2	Steel Almirah	01.04.2016	1	6740	6740.00	14	Non-repairable	Machinery & Equipment	500.00	500.00	Laboratory	
193	1	Computer Chair	10.06.2015	3	1330	3990.00		Non-repairable	Machinery & Equipment	250.00	750.00	Registration room	
194	2	Computer table	28.8.2007	2	2915	5830.00		Non-repairable	Machinery & Equipment	100.00	200.00	Registration room	
195	3	Almirah	08.10.2010	2	5790	11580.00		Non-repairable	Machinery & Equipment	500.00	1000.00	Registration room	
196	4	Rack	08.10.2010	2	2890	5780.00		Non-repairable	Machinery & Equipment	100.00	200.00	Registration room	
197	1	Computer Chair	10.06.2015	3	1330	3990.00	58	Non-repairable	Machinery & Equipment	25.00	75.00	Computer room	
198	2	Computer Table	16.04.2012	1	2200	2200.00	6	Non-repairable	Machinery & Equipment	100.00	100.00	Computer room	
199	1	Bioler	More than 05 Years	2	Haryana Govt	Haryana Govt	398	Non-repairable	Machinery & Equipment	10.00	20.00	PHC, Chhainsa	
200	2	Doppler	05.01.2013	2	5400	10800.00	59	Non-repairable	Machinery & Equipment	10.00	20.00	PHC, Chhainsa	
201	3	Auto clave	2.7.05	2	82650	165300.00	475	Non-repairable	Machinery & Equipment	1000.00	2000.00	PHC, Chhainsa	
202	4	BP machine (digital)	10.7.05	7	1200	8400.00	393	Non-repairable	Machinery & Equipment	5.00	35.00	PHC, Chhainsa	
203	5	Table	30.6.05	1	2559	2559.00	88	Non-repairable	Machinery & Equipment	100.00	100.00	PHC, Chhainsa	
204	6	Insect Killer	25.8.14	6	3200	19200.00	23	Non-repairable	Machinery & Equipment	10.00	60.00	PHC, Chhainsa	
205	7	Steel stool	30.3.2007	3	485	1455.00	98	Non-repairable	Machinery & Equipment	50.00	150.00	PHC, Chhainsa	
206	8	Gas stove Double	20.3.2011	2	2200	4400.00	95	Non-repairable	Machinery & Equipment	50.00	100.00	PHC, Chhainsa	
207	9	Mixer	03.07.2014	1	2650	2650.00	147	Non-repairable	Machinery & Equipment	50,00	50.00	PHC, Chhainsa	
-			Total			277824.00		7			5890.00		1

5. No.	wise S. No.	Description of item	Year of purchase	Total Quantity	Original unit cost of each item in rupees	Total Cost (Rs.)	Sr. No. and page no. o Stock Register details		Details of head under which the item was purchased & funds were books (whether M&E and M&S)	Reserve Price (Approx. value each item in Rupees)	Reserve Price (Approx. value in Rupees)	Location of Condemned Item	Contact detail of Dealing hand wit phone no
208	10	Spange Holding Forcep	09.01.2007	8	80	640.00	85	Non-repairable	Machinery & Equipment	2.00	16.00	PHC, Chhainsa	
209	11	Scissor	09.01.07	5	65	325.00	97	Non-repairable	Machinery & Equipment	2.00	10.00	PHC, Chhainsa	
210	12	Cuscos Speculam	09.01.07	2	110	220.00	201	Non-repairable	Machinery & Equipment	3.00	6.00	PHC, Chhainsa	
211	13	Sims Speculam	09.01.07	3	128	384.00	199	Non-repairable	Machinery & Equipment	3.00	9.00	PHC, Chhainsa	
212	14	Uterine Sound	4.01.12	2	150	300.00	255	Non-repairable	Machinery & Equipment	3.00	6.00	PHC, Chhainsa	
213	1	Oil heater	20.11.17	1	8145	8145.00		Non-repairable	Machinery & Equipment	70.00	70.00	Library	
214	2	Chair	18.12.15	1	4240	4240.00		Non-repairable	Machinery & Equipment	10.00	10.00	Library	
215	3	Office table	04.01.17	1	5750	5750.00		Non-repairable	Machinery & Equipment	100.00	100.00	Library	×
216	4	Photocopy machine	20.01.2015	1	292938	292938.00	6	Non-repairable	Machinery & Equipment	2000.00	2000.00	Library	7
217	1	Strature Iron	27.4.2015	2	9440	18880.00	54	Non-repairable	Machinery & Equipment	50.00	100.00	S.I.	
218	1	Vaccine carrier	08.11.2006	15	Haryana Govt.	Haryana Govt.	21	Non-repairable	Machinery & Equipment	10.00	150.00 1	mmunization Room	
219	2	Revolving Chair	16.12.2017	1	4042	4042.00	5 1	Non-repairable	Machinery & Equipment	25.00	25.00 I	mmunization	
220	1	Beltek TV	12.06.08	2	6000	12000.00	1	Non-repairable	Machinery & Equipment	50.00	100.00	Office/Store	
221	2	Inverter Set- Battery, Tray, Trolley	30.03.07	2	48000	96000.00	1	lon-repairable	Machinery & Equipment	40.00	80.00	Office/ Store	
222	3	Oil Heater	15.3.15	5	7379	36895.00	V	Ion-repairable	Machinery & Equipment	70.00	350.00	Office/ Store	
223	4	Toshiba Photo Copier	20.1.11	1	194040	194040.00	N	lon-repairable		2000.00	2000.00	Office/ Store	-
224	5	UPS - 1 KVA	26.07.2014	25	4424	110600.00	73 N	on-repairable	Machinery & Equipment	50.00	1250.00	Office/ Store	

tal

6282.00

282.00

Smt

Jahan

Page 13 of 17

S. No.	location wise S. No.	Description of item	Year of purchase	Total Quantity	Original unit cost of each item in rupees	Total Cost (Rs.)	Sr. No. and page no. of Stock Register details	THE PARTY OF THE P	Details of head under which the item was purchased & funds were books (whether M&E and M&S)	Reserve Price (Approx. value each item in Rupees)	Reserve Price (Approx. value in Rupees)	Location of Condemned Item	Contact detail of Dealing hand with phone no
225	6	Steel Almirah	17.3.2016	1	6740	6740.00		Non-repairable	Machinery & Equipment	500.00	500.00	Office/ Store	
226	7	Chair Revolving	13.12.2014, 17.1.2014, 28.3.2013	12	4240	50880.00		Non-repairable	Machinery & Equipment	25.00	300.00	Office/ Store	
227	8	Autoclave	01.02.17	2	166649	333298.00		Non-repairable	Machinery & Equipment	2000.00	4000.00	Office/ Store	
228	9	Compactor	26.3.2014	15	10700	160500.00	129	Non-repairable	Machinery & Equipment	500.00	7500.00	Office/ Store	
229	10	LCD Projector alogwith UPS 3 KVA and power battery charger	30.03.2013	1	AIIMS	AIIMS	103	Non-repairable	Machinery & Equipment	500.00	500.00	Office/ Store	
230	11	Rack	08.10.2010	2	2890	5780.00	117	Non-repairable	Machinery & Equipment	100.00	200.00	Office/ Store	
231	12	Weighing balance	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	50.00	50.00	Office/ Store	
232	13	Deep Freezers-20 deg	More than 10 years	3	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	2000.00	6000.00	Office/ Store	
233	14	Stabilizer	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	200.00	200.00	Office/ Store	
234	15	Variable Micropipette 0.5 - 10 ul	More than 10 years	4	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	10.00	40.00	Office/ Store	
235	16	Variable Micropipette 2- 20ul	More than 10 years	4	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	10.00	40.00	Office/ Store	
236	17	Variable Micropipette 10-100ul	More than 10 years	4	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	10.00	40.00	Office/ Store	
237	18	Variable Micropipette 100-1000ul	More than 10 years	4	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	10.00	40.00	Office/ Store	
238	19	Research plus multichannel pipette 10-100ul (8 channel	More than 10 years	1	AIIMS	AIIMS	1	Non-repairable	Machinery & Equipment	10.00	10.00	Office/ Store	
		1	Total			557198.00					10/20 00		

19420.00

S. No.	location wise S. No.	Description of item	Year of purchase	Total Quantity	Original unit cost of each item in rupees	Total Cost (Rs.)	Sr. No. and page no. of Stock Register details	Reasons of condemnation (whether unserviceable /Obsolete/ Surplus/ Scrap/ Beyond Economic Report) Condemnation Certified issued by CWC/OEM must be enclosed enclosed	Details of head under which the item was purchased & funds were books (whether M&E and M&S)	Reserve Price (Approx. value each item in Rupees)	Reserve Price (Approx. value in Rupees)	Location of Condemned Item	Contact detail of Dealing hand with phone no
239	20	Explorer research electronic multichannel pipette (12 channel) 5-100ul (+adaptor)	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	10.00	10.00	Office/ Store	
240	21	Mixmate	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	50.00	50.00	Office/ Store	
241	22	UPS 7.5 KVA	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	50.00	50.00	Office/ Store	
242	23	Gene amp PCR systems	More than 10 years	2	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	200.00	400.00	Office/ Store	
243	24	Realtime PCR system 7500	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	200.00	200.00	Office/ Store	
244	25	Veriti 96 well Thermocyclers	More than 10 years	2	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	100.00	200.00	Office/ Store	
245	26	Autoclave machine	More than 10 years	2	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	1000.00	2000.00	Office/ Store	
246	27	Centrifuges (Refrigerated)	More than 10 years	2	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	2500.00	5000.00	Office/ Store	
247	28	Centrifuges (table top	years	2	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	500.00	1000.00	Office/ Store	
248	29	Filteration System with vacuum pump	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	50.00	50.00	Office/ Store	
249	30	Gel-ectrophoresis unit (mini, Medi)	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	50.00	50.00	Office/ Store	
250	31	Heating Block	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	25.00	25.00	Office/ Store	
251	32	Hot Plate magnetic Stirrer	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	25.00	25.00	Office/ Store	
252	33	Backeriological Incubator	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	500,00	500.00	Office/ Store	
253	34	Liquid Nitrogen Container	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	20.00	20.00	Office/ Store	
254	35	Microfuge spinwin	More than 10 years	1	AIIMS	AIIMS	1	Non-repairable	Machinery & Equipment	100.00	100.00	Office/ Store	
255	36	Icematic machine	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	1000.00	1000.00	Office/ Store	. 0
	-		Total		1	1					10680.00	0 /	1

Dosjoven

Page 15 of 17

S. No.	location wise S. No.	Description of item	Year of purchase	Total Quantity	Original unit cost of each item in rupees	Total Cost (Rs.)	Sr. No. and page no. of Stock Register details	Reasons of condemnation (whether unserviceable /Obsolete/ Surplus/ Scrap/ Beyond Economic Report) Condemnation Certified issued by CWC/OEM must be enclosed enclosed	Details of head under which the item was purchased & funds were books (whether M&E and M&S)	Reserve Price (Approx. value each item in Rupees)	Reserve Price (Approx. value in Rupees)	Location of Condemned Item	Contact detail of Dealing hand with phone no
256	37	PCR Work Station	More than 10 years	4	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	100.00	400.00	Office/ Store	
257	38	Laboratory water purification system	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	50.00	50.00	Office/ Store	
258	39	Water bath	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	50.00	50.00	Office/ Store	
259	40	Vortex Mixtures	More than 10 years	2	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	25.00	50.00	Office/ Store	
260	41	UV Transilluminator	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	50.00	50.00	Office/ Store	
261	42	Pipette-Aid	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	2.00	2.00	Office/ Store	
262	43	Micropipettes/Electr onic pipettes	More than 10 years	4	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	2.00	8.00	Office/ Store	
263	44	Coolers	More than 10 years	4	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	700.00	2800.00	Office/ Store	
264	45	Coolers	More than 10 years	4	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	1000.00	4000.00	Office/ Store	7.
265	46	Electronic PH Meter	More than 10 years	1	AIIMS	AITMS		Non-repairable	Machinery & Equipment	25.00	25.00	Office/ Store	
266	47	Spinwin	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	50.00	50.00	Office/ Store	
267	48	Sealers-96 well (Heat)	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	50.00	50.00	Officef Store	
268	49	Realtime PCR 7500	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	100.00	100.00	Office/ Store	
269	50	Binocular Microscope	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	100.00	100.00	Office/ Store	
270	51	Microwave	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	50.00	50.00	Office/ Store	
271	52	Deep freezers (- 20deg)	More than 10 years	2	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	2000.00	4000.00	Office/ Store	
272	53	Deep freezers (-40 deg)	More than 10 years	2	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	2000.00	4000.00	Office/ Store	
273	54	Deep freezers (-80 deg)	More than 10 years	3	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	2000.00	6000.00	Office/ Store	

_

Dislaven

21785.00

Tan Jan

Page 16 of 17

	-2	-	٠	
	σ.			
	1		ρ.	
w	۲.,	J		

S. No.	location wise S. No.	Description of item	Year of purchase	Total Quantity	Original unit cost of each item in rupees	Total Cost (Rs.)	Sr. No. and page no. of Stock Register defails	Reasons of condemnation (whether unserviceable/Obsolete/ Surplus/ Scrap/ Beyond Economic Report) Condemnation Certified issued by CWC/OEM must be enclosed enclosed	purchased & funds were books (whether M&E and M&S)	Reserve Price (Approx. value each item in Rupees)	Reserve Price (Approx. value in Rupees)	Location of Condemned Item	Contact detail of Dealing hand with phone no
274	55	Minicold refrigerator	More than 10 years	1	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	400.00	400.00	Office/ Store	
275	56	Refrigerator (275	More than 10 years	4	AIIMS	AIIMS		Non-repairable	Machinery & Equipment	400.00	1600.00	Office/ Store	
276	57	Plastic Chair with Kusan	4.7.05	5	1260	6300.00		Non-repairable	Machinery & Equipment	10.00	50.00	Office/ Store	
277	58	Wooden Stool	23.10.2012	11	534	5874.00		Non-repairable	Machinery & Equipment	10.00	110.00	Office/ Store	
278	59	Computer Chair	31.3.06 (3), 08.08.08 (1), 28.3.11 (5)	9	2170, 1330, 1740	16540.00		Non-repairable	Machinery & Equipment	10.00	90.00	Office/ Store	

Total Grand Total

28714.00

6528145.00

(PREM-PAL) ACCOUNTS OFFICER IPNA TRAUMA CENTRE

(MEMBER)

(KALURAM)

CHIEF TECHNICAL OFFICER, CENTRE WORKSHOP (MEMBER)

> (DR RAKESH KUMAR) ASSOCIATE PROFESSOR CRHSP, BALLABGARH (MEMBER)

(DR. PUNEET MISRA)

STO PROFESTOMIN-CHARGE, Dr. Purrent MAIS ABGARH आचार्य प्रभारी/Prof**्रश्कृतान् निरंग्यन** N) व्या.स्रा.स्वा.से.परि. एस्स. बल्लवगार C.R.H.S.P.-AliMS, Ballabgarh अ.भा.आ.सं. नई दिल्ली/AliMS,New Delhi

2250.00 127201.00

(R.P. SINGH) ASSISTANT STORE OFFICER

STORE SECTION (DO)

(MEMBER)

(DR, HARSHAL RAMESH SALVE) ADDITIONAL PROFESSOR

ANTENTRE Additional Professor

C.R.H.S. Project, Ballabgarh सामुदायिक चिकित्सा विज्ञान केन्द्र Centre for Community Medicine

SMILAL H. /AIIMS

नई दिल्ली/New Delhi-110029